DpT [GeV]

Ratio to ATLAS

7000 GeVpp Underlylng Event

Rivet 3.1.10, = 3.5M events

[ [~ r T I
S Average p_vs Ny, (nl <2.5,p > 0.5 GeV) ]
| m ATLAS ]

| --0-- Herwig++ 2.7.1 default _
25— Herwig++ 2.7.1 UE-EE-5 —
— --id-- Herwig 7.2.1 default 7

2 I N
15—m= ]
B o e pEEEEEE e R

1 I N
0.5 — —]
L | | | | | | | ' | | | | | | | |_

: T T T T | T T T T | T T T T |:

2 & -
1 F EE}EEE}{EE}-EE}I}JEE[{F{EE}{EE}[E_
0.5 — _

" 1 1 1 1 | 1 1 1 1 | " 1 1 1 1 |
0 10 20 30

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


